District School Board of Pasco County Bid Recommendation

Bid Title	Health Supplies Warehouse Stock	Number of Vendors Notified	118
Bid Number	08-013-MK	Number of Bids Distributed	47
Date Solicited	1/11/07	Number of Formal "No Bid" Responses	1
Date Opened	2/14/07	Number of Vendors Bidding	17
Date Board Presentation	3/6/2007	Funding Source	110 General
Total Savings	Estimated Savings \$8,913.00	Grand Total of Bid	Estimated Total \$47,159.00

Recommendation: Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best bid meeting written specifications.

<u>Term of Contract:</u> This is an annual purchase for health products to be stocked in the central warehouse for use throughout the District.

Notations and Exceptions

HS-05 & 5a: Recommend acceptance of bid from Gulf South Medical Supply. Lower priced vendors did not supply a sample as required in bid document and could not be considered.

HS-6 & 6a: Recommend acceptance of bid from Wm. V. MacGill & Co. Lower priced vendors' were not considered as sanitary, they were not individually wrapped or they did not supply a sample as required in bid documents.

<u>HS-7:</u> Recommend acceptance of bid from Gulf South Medical Supply. Lower priced vendors' samples were either not as absorbent, too small or did not supply a sample as required in bid document.

<u>HS-15:</u> Recommend acceptance of bid from Moore Medical, LLC. Lower bid from Supreme Medical Fulfillment Systems Inc, product was not as sturdy. Based upon usage, product is inferior in quality.

Bid submitted by Delta Gloves was disqualified, vendor did not sign bid document as stated in the bid document.

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Karen Brown, Supervisor Student Services Linda Graham, Secretary II, Student Services

Bids Prepared By:

Mina Kaeding, CPPB, Buyer

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

DATE/TIME: February 28, 2007 09:27:00

Page 2 08-013-MK Health Supplies Warehouse Stock Recommendation

HS-19: Recommend acceptance of bid from Buy Indian Medical. Lower priced vendors' cups were either rough around the rim or they did not supply a sample as required in bid document.

<u>HS-21:</u> Recommend acceptance of bid from Moore Medical, LLC. Lower priced vendors' gloves were either considered too thin, too powdery, were actually too small for required size, did not send a sample or provide the proper paperwork as required in bid documents.

<u>HS-23:</u> Recommend acceptance of bid from Supreme Medical Fulfillment Systems, Inc. Lower priced vendor's CPR Shields did not give adequate instructions for use, mouthpiece was not considered as good or did not send a sample as required in bid documents.

HS-30: Recommend acceptance of bid from Moore Medical, LLC. Lower priced vendor did not supply a sample as required in bid document.

DATE O	F OPENI	NG:	Abel Unl	imited Inc.	American M	edical Denot	Buy India	n Medical
		007, 2:30 p.m.		Place, Suite 12	4380 NW		P.O. Box	
TITLE:		, <u>k</u>		h, FL 33401-2331	Opa Locka, F		Marretta, 0	
	SUPPL	IES/WAREHOUSE STOCK		Metsky	James T		Alan K	
BID:	100112			88-1105	305-36		800-96	
#08-013-N	MK			88-1412	305-36		408-79	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	6000	Vinyl Gloves, Large	\$2.18	\$13,080.00	DISQ		DISQ	
	Boxes	Manufacturer and Model #	Ironwa	are 4670				
					\$44.63(500ea/cs)	\$2,231.50		
HS-05	50	Tampons	NB		ψ++.05(500ca/cs)	Ψ2,231.30	NB	
110 05	Cases	Manufacturer and Model #	TVD		Hospe-fl 9	99034200	TUB	
HS-05A	Cases	OR Equal	NB		NB	JJ034200	NB	
115-0571		Manufacturer and Model #	ND		ND		TVD	
		Wandracturer and Woder #						
					\$13.60 (250ea/cs)	\$544.00		
HS-06	40	Napkins, Sanitary	NB		7 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 -	40	NB	
	Cases	Manufacturer and Model #			Hospe-fl 9	99034199		
HS-06A		OR Equal	NB		NB		NB	
		Manufacturer and Model #			1,2		·	
					\$12.07 (1000ea/bg	\$3,621.00		
HS-07	600	Cotton Balls	NB		2bg/cs)		\$7.18	\$4,308.00
	Pkgs.	Manufacturer and Model #			Storline 9	99100291	McKessor	n 12-9152
					\$14.16 (12ea/bg	\$1,416.00		
HS-10	100	Elastic Roller Gauze Bandages, Non-Sterile	NB		8bg/cs)		NB	
	Cases	Manufacturer and Model #			AMD 99	9105561		
					\$59.82 (1rl/bx	\$4,187.40		
HS-10A	70	Elastic Roller Gauze Bandages, Sterile	NB		12bx/cs)		NB	
	Cases	Manufacturer and Model #			AMD 99	9005106		
TIC 11	100	C C 211-211 N (4	ND		ND		\$2.72 (200/L)	¢272.00
HS-11	100	Gauze Squares 3"x3" Non-Sterile Manufacturer and Model #	NB		NB		\$3.73 (200/bx)	\$373.00
HS-11A	Boxes 100		NB		ND		McKesson \$2.37 (80/bx)	\$237.00
п5-11А		Gauze Squares 3"x3" Sterile Manufacturer and Model #	INR		NB		\$2.37 (80/bx) McKesson	
	Boxes	IVIAHUTACIUFEF AND IVIOGEI #					Nickesson	33222000
					\$1.85 (100/ea/bx	\$1,850.00		
HS-13	1000	Tongue Depressors	NB		10bx/cs)	ψ1,050.00	\$5.46	\$5,460.00
110-13	Boxes	Manufacturer and Model #	MD		Mombd-fl	999005935	McKesso	
	DOVES	ivialidiacturer and ivioder #			Wioiiiuu-II	,,,003,33	MCKesso	11 2 1 -703
HS-15	300	Thermometer, Digital	NB		\$4.42	\$1,326.00	\$3.76	\$1,128.00
10	Each	Manufacturer and Model #		1	Stea-fl 99		McKesson (
					2.00. 11 //		2:1011055511	
					NB			
HS-19	100	Cups, Medicine	NB				\$32.20 (5000/cs)	\$3,220.00
	Cases	Manufacturer and Model #		1			McKesson	
		-						

DATE O	F OPENI	ING:	Gene	sis II	Gulf South M	ledical Supply	Home-Aid-H	lealthcare, Inc.
		2007, 2:30 p.m.	P.O. Bo			npoint Blvd		x 801764
TITLE:		· •	Rock Hill, SC	C 29731-1226	Jacksonvill	e, FL 32216	Santa Clarita,	CA 91380-1764
	I SUPPL	IES/WAREHOUSE STOCK	Antron E	Benjemin	Jenni L.	Edwards	AZ C	Gordon
BID:			803-32	8-6633	800-76	0-6026	661-29	94-9509
#08-013-I	MK		803-32	8-3933	904-82	1-7165	661-29	94-9837
ITEM#	QTY.	DESCRIPTION	UNIT PRICE		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	6000	Vinyl Gloves, Large	\$2.53	\$15,180.00	DISQ		DISQ	
	Boxes	Manufacturer and Model #	Amerco	re 400-3				
HS-05	50	Tampons	\$51.00 (500/cs)	\$2,550.00	\$49.42 (500/cs)	\$2,471.00	NB	
	Cases	Manufacturer and Model #	Hospital Spe	·		ialty Co. T500	<u> </u>	
HS-05A		OR Equal	Trospital Spe	charty 1 000	NB		NB	
		Manufacturer and Model #						
HS-06	40	Napkins, Sanitary	\$28.74	\$1,149.69	\$24.30	\$972.00	NB	
113-00	Cases	Manufacturer and Model #	Hospital Spe			alty Co. 147-A	ND	
HS-06A	Cases	OR Equal	NB	cially 147A	NB	alty Co. 147-A	NB	
113-00A		Manufacturer and Model #	ND		ND		ND	
HS-07	600	Cotton Balls	NB		\$13.53	\$8,118.00	\$12.18	\$7,308.00
	Pkgs.	Manufacturer and Model #			Select Med	lical 47316	MCK 024	13-12-9152
HS-10	100	Elastic Roller Gauze Bandages, Non-Sterile	\$12.86 (96/cs)	\$1,286.00	\$9.41 (96/cs)	\$941.00	\$9.29 (96/cs)	\$929.00
	Cases	Manufacturer and Model #	Emeral	d 5525	Select Med	ical 102000	CMP	41-02
HS-10A	70	Elastic Roller Gauze Bandages, Sterile	\$27.12 (96/cs)	\$1,898.40	\$19.38 (96/cs)	\$1,356.60	\$18.14 (96/cs)	\$1,269.80
	Cases	Manufacturer and Model #	Emeral	d 1702	Select Med	ical 222000	CMP	41-52
HS-11	100	Gauze Squares 3"x3" Non-Sterile	NB		\$2.09 (200bx)	\$522.50	NB	
	Boxes	Manufacturer and Model #			Select Med	ical 100332		
HS-11A	100	Gauze Squares 3"x3" Sterile	NB		\$2.38 (100/bx)	\$595.00	NB	
	Boxes	Manufacturer and Model #			Select Med	ical 201332		
HS-13	1000	Tongue Depressors	\$3.68	\$3,680.00	\$3.21	\$3,210.00	\$3.55	\$3,550.00
по-15	Boxes	Manufacturer and Model #	\$3.08 Emerale			\$5,210.00 lical 17110		\$3,330.00 I ASO 19
	Doves	ivianuracturer and ivioder#	Emeraio	177100	Select Med	11Cal 1/11U	Amsmu	1730 17
HS-15	300	Thermometer, Digital	NB		\$4.21	\$1,263.00	NB	
	Each	Manufacturer and Model #			Select Me	edical 585		
HS-19	100	Cups, Medicine	NB		\$29.11 (5000/cs)	\$2,911.00	\$30.79	\$3,079.00
по-19	Cases	Manufacturer and Model #	IND		\$29.11 (5000/cs) Select Med			\$3,079.00
	Cases	ivianuracturer and ivioder#	1		Select Med	10.01 333300	CIVIP	2J-UU

DATE O	F OPENI	NG:	Interboro Packa	ging Corporation	Kentron H	Health Care	Medco Supply	Company, Inc.
		007, 2:30 p.m.		cken Road	3604 Kelton	Jackson Road	500 Filln	
TITLE:			Montgomery,	NY 12549-2600	Springfield	I, TN 37172	Tonawanda	, NY 14150
	I SUPPL	IES/WAREHOUSE STOCK	Rachel	Jeremias	Nari Sac	larangani	Lesile '	Wilmot
BID:			845-45	57-2700	615-38	34-0573	716-74	3-8400
#08-013-I	MK		845-43	57-1927	615-38	34-0574	800-22	2-1934
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	6000	Vinyl Gloves, Large	\$2.35	\$14,100.00	\$2.35	\$14,100.00	DISQ	
	Boxes	Manufacturer and Model #	Pro-Stat En	nerald-lrg-vg	Dynare	ex 2603		
HS-05	50	Tampons	NB		NB		\$31.46 (200/cs)	\$1,573.00
	Cases	Manufacturer and Model #					Tampax	
HS-05A		OR Equal	NB		NB		NB	
110 0011		Manufacturer and Model #			1,2		1,2	
HS-06	40	Napkins, Sanitary	NB		NB		\$34.47 (250/cs)	\$1,378.80
	Cases	Manufacturer and Model #		•			Maxithins	s 57013M
HS-06A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
HS-07	600	Cotton Balls	NB		\$9.00	\$5,400.00	\$5.97 (2000/bx)	\$3,582.00
	Pkgs.	Manufacturer and Model #			Kentror	1 440020	US Cotto	on 32060
HS-10	100	Elastic Roller Gauze Bandages, Non-Sterile	NB		\$8.00 (96/cs)	\$800.00	\$1.20 (12/bag)	\$120.00
115-10	Cases	Manufacturer and Model #	NB			440002	Dukal (
HS-10A	70	Elastic Roller Gauze Bandages, Sterile	NB		\$16.00 (96/cs)	\$1,120.00	\$2.54 (12/bag)	\$177.80
	Cases	Manufacturer and Model #			Kentror	1 441002	Dukal (010702
HS-11	100	Gauze Squares 3"x3" Non-Sterile	NB		\$1.35 (200/bx)	\$135.00	\$3.14 (200/bx)	\$314.00
	Boxes	Manufacturer and Model #				n 331211	Vital 2	
HS-11A	100	Gauze Squares 3"x3" Sterile	NB		\$2.00 (100/bx)	\$200.00	\$1.82 (50/bx)	\$182.00
	Boxes	Manufacturer and Model #			Kentron l	KS331201	Vital 2	60807
HS-13	1000	Tongue Depressors	NB		\$2.30	\$2,300.00	\$3.43 (500/bx)	\$3,430.00
110-13	Boxes	Manufacturer and Model #	110			1 450675	Dynare:	· · · · · · · · · · · · · · · · · · ·
							,	
HS-15	300	Thermometer, Digital	NB		\$2.65 (10/bx)	\$795.00	\$3.22 (1/bx)	\$966.00
	Each	Manufacturer and Model #			Kentron	DT3333	Mabis	15605
HS-19	100	Cups, Medicine	NB		\$39.00 (5000/cs)	\$3,900.00	\$1.12 (100/cs)	\$112.00
по-19	Cases	Manufacturer and Model #	IND			ex 4352	\$1.12 (100/cs) Sofco 3	
	Cases	ivianuracturer and ivioder#			Dynare	EA 4334	50100 3	2002IVI

DATE O	F OPENI	NG:	Moore Medi	ical LLC	Norther	n Safeco	Potts Distribut	ting Company
		007, 2:30 p.m.	389 John Do		9850 Curri		P.O. Box 179 1	
TITLE:		F	New Britain,	•		FL 33619	Columbia,	
	I SUPPL	IES/WAREHOUSE STOCK	Bonnie S			e Ackley	Mable	
BID:	I DOTT I		800-234-			326 x2642	318-649	
#08-013-N	мк		877-354-			4-8605	318-64	
ITEM#	QTY.	DESCRIPTION		TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	6000	Vinyl Gloves, Large	\$2.49	\$14,940.00	\$4.19	\$25,140.00	DISQ	TOTALTRICE
110 01	Boxes	Manufacturer and Model #	Cypress 7			ely 122-220TR	DibQ	
	Волев	Translate and Troder II	- Sypress /	7,7110	T (OTTHETH Bure	17 122 22011		
HS-05	50	Tampons	\$57.00 (500/cs)	\$2,850.00	NB		NB	
110 00	Cases	Manufacturer and Model #	Unisource		1,2		1,2	
HS-05A	Cases	OR Equal	NB	05570	NB		NB	
115-05A		Manufacturer and Model #	ND		ND		ND	
		Manufacturer and Wioder II						
110 0 0	40	N 1: 0 :	ф20.72	ф1 1 40 00				
HS-06	40	Napkins, Sanitary	\$28.52	\$1,140.80	NB		NB	
***	Cases	Manufacturer and Model #	Unisource	65595	\	Т) T-	
HS-06A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
			\$5.90 (300/cs					
HS-07	600	Cotton Balls	2bg/cs 2000/box)	\$3,540.00	NB		NB	
	Pkgs.	Manufacturer and Model #	1743					
			\$8.24 (12/pkg					
HS-10	100	Elastic Roller Gauze Bandages, Non-Sterile	8pkg/cs)	\$824.00	\$1.32/ea	\$12,672.00	NB	
	Cases	Manufacturer and Model #	Dukal 55	5501	Hartmann Cond	co Inc 249-7967		
			\$21.04 (12/pkg					
HS-10A	70	Elastic Roller Gauze Bandages, Sterile	8pkg/cs)	\$1,472.80	\$0.67/ea (144/cs)	\$6,753.60	NB	
	Cases	Manufacturer and Model #	Dukal 73	3983	Natramax Produ	ct Inc. 249-6115		
HS-11	100	Gauze Squares 3"x3" Non-Sterile	\$1.52 (200/bx)	\$380.00	\$1.91 (20/bx)	\$191.00	NB	
	Boxes	Manufacturer and Model #	Dukal 12		First Aid (
HS-11A	100	Gauze Squares 3"x3" Sterile	\$2.71 (100/bx)	\$1,355.00	\$3.64 (50/bx)	\$364.00	NB	
110 1111	Boxes	Manufacturer and Model #	Dukal 8			Only I-212	1,2	
						,		
HS-13	1000	Tongue Depressors	\$2.29	\$2.280.00	\$4.45	\$4.450.00	NB	
по-13	1000	Tongue Depressors Manufacturer and Model #	\$2.28	\$2,280.00		\$4,450.00	IND	
	Boxes	ivianuracturer and iviodel #	6961	1	Puritan Medi	cal 252-1722		
HS-15	300	Thermometer, Digital	\$2.72	\$816.00	NB		NB	
	Each	Manufacturer and Model #	6463			I.		
							\$29.30 (100/s1	
HS-19	100	Cups, Medicine	\$33.00 (5000/cs)	\$3,300.00	NB		50sl/cs 5000/cs)	\$2,930.00
	Cases	Manufacturer and Model #	8177	2			Medline D	ynd 80000

DATE O	F OPENI	NG:	Pyramid Scl	nool Products	Ouac	dMed	School Kids	Healthcare
		007, 2:30 p.m.		54th Street		x 550773	1711 Param	
TITLE:	,	, k		FL 33610		FL 32255-0773		WI 53186
	I SUPPL	IES/WAREHOUSE STOCK		D. Miller	·	y Price	Bradley	
BID:				21-6446		33-7334	800-55	
#08-013-I	МК			21-7688		30-2303	800-55	
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	6000	Vinyl Gloves, Large	DISQ		DISQ		\$2.57	\$15,420.00
	Boxes	Manufacturer and Model #					Dynare	ex 2603
HS-05	50	Tampons	\$49.95 (500/cs)	\$2,497.50	NB		NB	
	Cases	Manufacturer and Model #	Tampa	x T500				
HS-05A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
HS-06	40	Napkins, Sanitary	NB		NB		NB	
	Cases	Manufacturer and Model #	_ ,2	+		+	- ,2	
HS-06A	24000	OR Equal	\$26.98	\$1,079.20	NB		NB	
115 0011		Manufacturer and Model #		4-147	112		113	
							\$1.04 (50/bg	
HS-07	600	Cotton Balls	NB		NB		80bg/cs)	\$624.00
	Pkgs.	Manufacturer and Model #				1	Kenda	11 2602
HS-10	100	Elastic Roller Gauze Bandages, Non-Sterile	NB		\$14.85 (96/cs)	\$1,485.00	\$9.28 (96/cs)	\$928.00
	Cases	Manufacturer and Model #			Dynare	ex 1000	Dukal	D602
HS-10A	70	Elastic Roller Gauze Bandages, Sterile	NB		\$22.80	\$1,596.00	\$20.00 (96/cs)	\$1,400.00
	Cases	Manufacturer and Model #			Dynare	ex 1003	Dukal	D702
HS-11	100	Gauze Squares 3"x3" Non-Sterile	NB		NB		\$1.26 (200/bx)	\$126.00
по-11	Boxes	Manufacturer and Model #	IND		ND		\$1.20 (200/bx) Dynare	
HS-11A	100	Gauze Squares 3"x3" Sterile	NB		NB		\$2.70 (100/bx)	\$270.00
пъ-11А	Boxes	Manufacturer and Model #	ND		ND		\$2.70 (100/0x) Dukal	
	Doves	Wanufacturer and Woder π					Dukai	D1312
HS-13	1000	Tongue Depressors	NB		NB		\$3.18	\$3,180.00
	Boxes	Manufacturer and Model #				T	Dyrare	x 4 3 12
HS-15	300	Thermometer, Digital	NB		\$3.94 (10/bx)	\$1,182.00	\$3.27/ea	\$981.00
110 10	Each	Manufacturer and Model #	1,12		, ,	C 7449	Mabis	
	Lucii	ATTENDED TO THE PROPERTY OF TH			ADC	/ / 17/	TYTAUTS	10000
HS-19	100	Cups, Medicine	NB		NB		\$40.50 (5000/cs)	\$4,050.00
	Cases	Manufacturer and Model #		1		1	Medline	

DATE O	F OPENI	NG:	Supreme Medical F	Fulfillment Sys., Inc.	WM V Ma	cGill & Co.
		007, 2:30 p.m.		x 850247		bard Road
TITLE:		, <u> </u>	Mobile, AL	36685-0247	Lombard.	IL 60148
	H SUPPL	IES/WAREHOUSE STOCK		Mason	Meliss	
BID:				51-1370	800-32	
#08-013-1	MK			51-1277		7-3433
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-01	6000	Vinyl Gloves, Large	\$2.548/bx	\$15,288.00	DISQ	10111211102
	Boxes	Manufacturer and Model #		ex 2603		
HS-05	50	Tampons	NB		\$68.00 (500/cs)	\$3,400.00
	Cases	Manufacturer and Model #			Tampa	x 1908
HS-05A		OR Equal	\$56.66 (500/cs)	\$2,833.00	NB	
		Manufacturer and Model #	, , ,	co T500		
HS-06	40	Napkins, Sanitary	NB		\$38.00 (250/cs)	\$1,520.00
	Cases	Manufacturer and Model #			Stayf	ree 4S
HS-06A		OR Equal	\$28.63 (250/cs)	\$1,145.20	NB	
		Manufacturer and Model #	Hospec	co 147A		
HS-07	600	Cotton Balls	\$5.18	\$3,108.00	\$16.00	\$9,600.00
	Pkgs.	Manufacturer and Model #	Dynar	ex 3170	US cotto	on 19152
HS-10	100	Elastic Roller Gauze Bandages, Non-Sterile	\$8.85	\$885.00	\$21.20	\$2,120.00 xicon 2220
	Cases	Manufacturer and Model #	Dynar	ex 3102	Conco Fie	x1con 2220
HS-10A	70	Elastic Roller Gauze Bandages, Sterile	\$19.88	\$1,391.60	\$33.60	\$2,352.00
	Cases	Manufacturer and Model #	Dynar	ex 3112	Conco Fle	xicon 1920
HS-11	100	Gauze Squares 3"x3" Non-Sterile	* \$1.45	\$145.00	\$2.00 (200/bx)	\$200.00
	Boxes	Manufacturer and Model #		ex 3233		ny 4032
HS-11A	100	Gauze Squares 3"x3" Sterile	* \$2.64	\$264.00	\$3.50 (100/bx)	\$350.00
	Boxes	Manufacturer and Model #	Dynaro	ex 3353	Duka	8110
HS-13	1000	Tongue Depressors	\$2.63	\$2,630.00	\$4.25	\$4,250.00
110 10	Boxes	Manufacturer and Model #	· ·	ex 4312		my 709
HS-15	300	Thermometer, Digital	\$2.42	\$726.00	\$4.00	\$1,200.00
	Each	Manufacturer and Model #	Mabis 15	5-681-000	Omron	AST4B
HS-19	100	Cups, Medicine	\$35.14	\$3,514.00	\$34.00	\$3,400.00
	Cases	Manufacturer and Model #	Dynar	ex 4252	Macgi	11 1901

DATE O	F OPENI	NG:	Abel Unl	imited Inc.	American M	edical Depot	Buy Indi	an Medical
FEBRUA	RY 14, 2	007, 2:30 p.m.	1649 Forum	Place, Suite 12	4380 NW	/ 135th St	P.O. B	ox 71582
TITLE:			West Palm Beac	h, FL 33401-2331	Opa Locka, F	L 33054-4418	Marretta,	GA 30007
HEALTI	I SUPPL	IES/WAREHOUSE STOCK	Ina N	Metsky	James T	C. Oliver	Alan	Kraimer
BID:			651-68	88-1105	305-36	64-0888	800-9	65-7786
#08-013-1	MK		561-68	88-1412	305-36	64-0877	408-7	90-1305
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-21	3000	Vinyl Gloves-Medium	\$2.18	\$6,540.00	DISQ		DISQ	
	Boxes	Manufacturer and Model #	Ironwa	are 4670				
					\$227.80 (10ea/bx	\$5,467.20		
HS-23	1200	Shield, CPR Micro	NB		5bx/cs)		NB	
	Each	Manufacturer and Model #			99910	00931		
HS-23A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
					\$34.09 (200ea/bg	\$68.18		
HS-24	75	Gauze Squares 2"x2" Non-Sterile	NB		40bg/cs)	\$50110	\$1.77 (200/bx)	\$132.75
	Boxes	Manufacturer and Model #				99022623		1 441218
					\$17.75 (200ea/bg	\$53.25		
HS-24A	75	Gauze Squares 2"x2" Sterile	NB		1bg/bx 25bx/cs)	·	NB	
	Boxes	Manufacturer and Model #			AMD 99	9015548		
					\$121.37 (100ea/bx	\$1,456.44		
HS-30	600	Cover, Thermometer, Probe	NB		50bx/cs)		\$3.74	\$2,244.00
	Boxes	Manufacturer and Model #			AMD 99	99036813	Omror	9PROB
HS-31	75	Ace Bandages 2"	NB		\$23.63 (10ea/bx 6bx/cs)	\$307.19	\$3.68 (10/bx)	\$276.00
110 01	Boxes	Manufacturer and Model #	110		AMD 99	·	, ,	on 16-5025
	Волев	Translate and Troder II			THIRD //	7100327	TVICTIOS S	10 3023
					\$27.06 (10ea/bx	\$324.72		
HS-32	70	Ace Bandages 3"	NB		6bx/cs)		\$4.82 (10/bx)	\$337.40
	Boxes	Manufacturer and Model #			AMD 99	9100327	McKesso	on 16-5035
					\$34.30 (10ea/bx	\$445.90		
HS-33	75	Ace Bandages 4"	NB		6bx/cs)		\$5.64 (10/bx)	\$423.00
	Boxes	Manufacturer and Model #			AMD 99	9100329	McKesso	on 16-5045

DATE O	F OPENI	ING:	Gene	esis II	Gulf South N	Medical Supply	Home-Aid-H	lealthcare, Inc.
FEBRUA	RY 14, 2	2007, 2:30 p.m.	P.O. Bo	x 11226	4345 Sout	hpoint Blvd	P.O. Bo	ox 801764
TITLE:			Rock Hill, SO	C 29731-1226	Jacksonvil	le, FL 32216	Santa Clarita,	CA 91380-1764
HEALTI	H SUPPL	IES/WAREHOUSE STOCK	Antron I	Benjemin	Jenni L.	Edwards	AZ (Gordon
BID:			803-32	8-6633	800-70	60-6026	661-29	94-9509
#08-013-1			803-32	8-3933	904-82	21-7165	661-2	94-9837
ITEM#	QTY.	DESCRIPTION	UNIT PRICE		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-21	3000	Vinyl Gloves-Medium	\$2.53	\$7,590.00	DISQ		DISQ	
	Boxes	Manufacturer and Model #	Amerco	re 400-2				
HS-23	1200	Shield, CPR Micro	NB		\$3.86	\$4,632.00	NB	
	Each	Manufacturer and Model #		T-	70-150			
HS-23A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
HS-24	75	Gauze Squares 2"x2" Non-Sterile	NB		\$1.21 (200/bx)	\$209.44	NB	
	Boxes	Manufacturer and Model #			Select Med	lical 100222	cal 100222	
HS-24A	75	Gauze Squares 2"x2" Sterile	NB		\$2.49 (100/bx)	\$465.63	NB	
	Boxes	Manufacturer and Model #			Select Med	lical 777330		
HS-30	600	Cover, Thermometer, Probe	NB		\$1.71	\$1,026.00	NB	
	Boxes	Manufacturer and Model #			Mabis 1:	5-618-000		
HS-31	75	Ace Bandages 2"	NB		\$0.32 (10/bx)	\$288.00	\$4.44 (10/bx)	\$333.00
	Boxes	Manufacturer and Model #			Select Med	lical 100502	MCK 15	87-13-242
HS-32	70	Ace Bandages 3"	NB		\$0.40 (10/bx)	\$336.00	\$5.70	\$399.00
	Boxes	Manufacturer and Model #			Select Med	lical 100503	MCK15	87-13-243
HS-33	75	Ace Bandages 4"	NB		\$0.53 (10bx)	\$477.00	\$7.36 (10/bx)	\$552.00
	Boxes	Manufacturer and Model #		I	` '	lical 100504	· · · · · · · · · · · · · · · · · · ·	87-13-244

HEALTH SUPPLIES/WAREHOUSE STOCK Rachel Jeremias Nari Sadarangani Lesile Wilmot	DATE O	F OPENI	ING:	Interboro Packa	ging Corporation	Kentron I	Health Care	Medco Supply	y Company, Inc.
REALTH SUPPLIES/WAREHOUSE STOCK Rachel Jeremias Nart Sadarungani Lesile Wilmort	FEBRUA	RY 14, 2	2007, 2:30 p.m.	114 Brac	cken Road	3604 Kelton	Jackson Road	500 Fill	more Ave
BID:	TITLE:			Montgomery,	NY 12549-2600	Springfield	l, TN 37172	Tonawand	a, NY 14150
R8-013-MK R8-05-3-MC R8-05-7-1927 R6-15-384-0574 R8-00-222-1934 TTEM# QTY DESCRIPTION UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE Boxes Manufacturer and Model # Pro-Stat Emerald-med-vg Dynarex 2602 HS-23 1200 Shield, CPR Micro NB S1.75 (1000-bx) S2,100.00 S4.17 S5,004.00 HS-23 1200 Shield, CPR Micro NB NB NB S4.17 S5,004.00 HS-24 75 Gauze Squares 2"x2" Non-Sterile NB S0.70 (2000-bx) S52.50 S0.97 (2000-bx) S72.75 HS-24 75 Gauze Squares 2"x2" Non-Sterile NB S1.75 (1000-bx) S131.25 S2.30 (1000-bx) S72.75 HS-24 75 Gauze Squares 2"x2" Non-Sterile NB S1.75 (1000-bx) S131.25 S2.30 (1000-bx) S172.50 HS-25 Boxes Manufacturer and Model # S0.70 (2000-bx) S131.25 S2.30 (1000-bx) S172.50 HS-30 600 Cover, Thermometer, Probe NB NB S1.75 (1000-bx) S1.80 S2.43 S1.458.00 HS-31 75 Ace Bandages 2" NB S2.40 (100-bx) S1.80 S3.22 (100-bx) S333.90 HS-32 70 Ace Bandages 3" NB S3.10 (100-bx) S217.00 S4.77 (100-bx) S333.90 HS-33 75 Ace Bandages 4" NB S4.10 (100-bx) S307.50 S5.47 (100-bx) S333.90 HS-33 75 Ace Bandages 4" NB S4.10 (100-bx) S307.50 S5.47 (100-bx) S333.90 S4.10 (100-bx) S307.50 S5.47 (100-bx) S410.25 S4.10 (100-bx) S307.50 S5.47 (100-bx) S410.25 S4.10 (100-bx) S307.50 S5.47 (100-bx) S410.25 S4.10 (100-bx)	HEALTH	H SUPPL	IES/WAREHOUSE STOCK	Rachel	Jeremias	Nari Sac	larangani	Lesile	Wilmot
TEM# OTY. DESCRIPTION UNIT PRICE TOTAL PRICE UNIT PRICE TOTAL PRICE S2.35 \$7,050.00 \$2.55 \$7,050.00 \$1.50 \$1	BID:			845-4:	57-2700	615-38	84-0573	716-7	43-8400
HS-21 3000 Vinyl Gloves-Medium \$2.35 \$7,050.00 \$2.35 \$7,050.00 DISQ	#08-013-1	MK		845-4:	57-1927	615-38	84-0574	800-2	22-1934
Boxes Manufacturer and Model # Pro Stat Emerald-med-vg Dynarex 2602	ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-23 1200 Shield, CPR Micro NB \$1.75 (100/bx) \$2,100.00 \$4.17 \$5,004.00	HS-21	3000						DISQ	
HS-23A		Boxes	Manufacturer and Model #	Pro Stat Em	erald-med-vg	-med-vg Dynarex 2602			
HS-23A	HS-23			NB				•	
Manufacturer and Model # Plesco 51001M Plesco 51001M HS-24 75 Gauze Squares 2"x2" Non-Sterile NB \$0.70 (200/bx) \$52.50 \$0.97 (200/bx) \$72.75 HS-24A 75 Gauze Squares 2"x2" Sterile NB \$1.75 (100/bx) \$131.25 \$2.30 (100/bx) \$172.50 HS-34 75 Gauze Squares 2"x2" Sterile NB \$1.75 (100/bx) \$131.25 \$2.30 (100/bx) \$172.50 HS-30 600 Cover, Thermometer, Probe NB NB \$2.43 \$1.458.00 HS-31 75 Ace Bandages 2" NB \$2.40 (10/bx) \$1.80 \$3.22 (10/bx) \$241.50 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 HS-32 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-34 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-35 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-36 HS-37 HS-38 HS-38 HS-39		Each					ex 4921		
HS-24 75 Gauze Squares 2"x2" Non-Sterile NB \$0.70 (200/bx) \$52.50 \$0.97 (200/bx) \$72.75 HS-24A 75 Gauze Squares 2"x2" Sterile NB \$1.75 (100/bx) \$131.25 \$2.30 (100/bx) \$172.50 HS-24A 75 Gauze Squares 2"x2" Sterile NB \$1.75 (100/bx) \$131.25 \$2.30 (100/bx) \$172.50 HS-30 600 Cover, Thermometer, Probe NB NB \$2.43 \$1,458.00 HS-30 Boxes Manufacturer and Model #	HS-23A			NB		NB		'	
Boxes Manufacturer and Model # Kentron 221211 Dukal 010215 HS-24A 75 Gauze Squares 2"x2" Sterile NB \$1.75 (100/bx) \$131.25 \$2.30 (100/bx) \$172.50 Boxes Manufacturer and Model # Kentron KS221201 Dukal 35258 HS-30 600 Cover, Thermometer, Probe NB NB \$2.43 \$1,458.00 Boxes Manufacturer and Model # Mabis 15604 HS-31 75 Ace Bandages 2" NB \$2.40 (10/bx) \$1.80 \$3.22 (10/bx) \$241.50 Boxes Manufacturer and Model # Kentron 660622 Dukal 031353 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 Boxes Manufacturer and Model # Kenton 660623 Dukal 031354 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-34 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-35 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-36 HS-37 HS-38 HS			Manufacturer and Model #					Plesco	51001M
HS-24A 75 Gauze Squares 2"x2" Sterile NB \$1.75 (100/bx) \$131.25 \$2.30 (100/bx) \$172.50 Boxes Manufacturer and Model # Kentron KS221201 Dukal 35258 HS-30 600 Cover, Thermometer, Probe NB NB \$2.43 \$1,458.00 Boxes Manufacturer and Model # Mabis 15604 HS-31 75 Ace Bandages 2" NB \$2.40 (10/bx) \$1.80 \$3.22 (10/bx) \$241.50 Kentron 660622 Dukal 031353 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-34 TS-35	HS-24			NB					
Boxes Manufacturer and Model # Kentron KS221201 Dukal 35258 HS-30 600 Cover, Thermometer, Probe NB NB \$2.43 \$1,458.00 Boxes Manufacturer and Model # Mabis 15604 HS-31 75 Ace Bandages 2" NB \$2.40 (10/bx) \$1.80 \$3.22 (10/bx) \$241.50 Boxes Manufacturer and Model # Kentron 660622 Dukal 031353 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 Boxes Manufacturer and Model # Kenton 660623 Dukal 031354 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-35 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-36 HS-37 HS-38 HS-38 HS-39 HS		Boxes	Manufacturer and Model #			Kentron 221211		Dukal	010215
HS-30 600 Cover, Thermometer, Probe NB NB \$2.43 \$1,458.00 Boxes Manufacturer and Model #	HS-24A	75		NB		. , ,		. ,	· ·
Boxes Manufacturer and Model # Mabis 15604 HS-31 75 Ace Bandages 2" NB \$2.40 (10/bx) \$1.80 \$3.22 (10/bx) \$241.50 Boxes Manufacturer and Model # Kentron 660622 Dukal 031353 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 Boxes Manufacturer and Model # Kenton 660623 Dukal 031354 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-34 TS-45 TS		Boxes	Manufacturer and Model #			Kentron	KS221201	Duka	1 35258
HS-31 75 Ace Bandages 2" NB \$2.40 (10/bx) \$1.80 \$3.22 (10/bx) \$241.50 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 Boxes Manufacturer and Model # \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25 HS-34 TS-35 TS-36	HS-30			NB		NB			
Boxes Manufacturer and Model # Kentron 660622 Dukal 031353 HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 Boxes Manufacturer and Model # Kenton 660623 Dukal 031354 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25		Boxes	Manufacturer and Model #					Mabi	s 15604
HS-32 70 Ace Bandages 3" NB \$3.10 (10/bx) \$217.00 \$4.77 (10/bx) \$333.90 Boxes Manufacturer and Model # Kenton 660623 Dukal 031354 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25	HS-31	75	Ace Bandages 2"	NB		\$2.40 (10/bx)	\$1.80	\$3.22 (10/bx)	\$241.50
Boxes Manufacturer and Model # Kenton 660623 Dukal 031354 HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25		Boxes	Manufacturer and Model #			Kentroi	1 660622	Dukal	031353
HS-33 75 Ace Bandages 4" NB \$4.10 (10/bx) \$307.50 \$5.47 (10/bx) \$410.25	HS-32	70		NB		\$3.10 (10/bx)	\$217.00		
		Boxes	Manufacturer and Model #			Kenton	660623	Dukal	031354
	HS-33	75	Ace Bandages 4"	NB		\$4.10 (10/bx)	\$307.50	\$5.47 (10/bx)	\$410.25
	110 00			1,2					

DATE O	F OPENI	ING:	Moore M	ledical LLC	Norther	n Safeco	Potts Distrib	uting Company
FEBRUA	RY 14, 2	2007, 2:30 p.m.	389 John	Downey Fr.	9850 Curr	ie Davis Dr.	P.O. Box 179	129 Ballpark Rd
TITLE:	·		New Britai	in, CT 06050	Tampa,	FL 33619	Columbia	n, LA 71418
HEALTI	H SUPPL	IES/WAREHOUSE STOCK	Bonnie	e Samsel	Michell	e Ackley	Mab	le Potts
BID:			800-2	34-1464	800-972-3	3326 x2642	318-6	49-6133
#08-013-1	MK		877-3	54-5916	800-69	94-8605	318-6	49-5661
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-21	3000	Vinyl Gloves-Medium	\$2.49	\$7,470.00	\$4.19	\$12,570.00	DISQ	
	Boxes	Manufacturer and Model #	Cypres	ss 77109	Northern Saf	ely 1222077M		
HS-23	1200	Shield, CPR Micro	\$3.76	\$4,512.00	\$3.07	\$3,684.00	NB	
	Each	Manufacturer and Model #		35472	Certified Sa	fey 252-2110		
HS-23A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
HS-24	75	Gauze Squares 2"x2" Non-Sterile	\$0.84 (200/bx)	\$157.92	NB		NB	
	Boxes	Manufacturer and Model #	Duka	1 12276				
HS-24A	75	Gauze Squares 2"x2" Sterile	\$1.95	\$731.25	\$5.20 (100/bx)	\$390.00	NB	
	Boxes	Manufacturer and Model #	Duka	al 8250	Certified Sat	fely 249-7259		
HS-30	600	Cover, Thermometer, Probe	\$1.58	\$948.00	NB		NB	
	Boxes	Manufacturer and Model #	Mabis	s 65354				
HS-31	75	Ace Bandages 2"	\$0.27/ea	\$243.00	\$0.60/ea	\$540.00	NB	
	Boxes	Manufacturer and Model #	Cypres	ss 80868	Packit 2	252-1495		
HS-32	70	Ace Bandages 3"	\$0.36/ea	\$302.40	\$11.25 (12/bx)	\$787.50	NB	
	Boxes	Manufacturer and Model #	Cypres	ss 80869	First Aid	Only J-616		
HS-33	75	Ace Bandages 4"	\$0.43/ea	\$387.00	\$1.05/ea	\$900.00	NB	
	Boxes	Manufacturer and Model #	Cypres	ss 80870	Packit 2	252-1479		

DATE O	F OPENI	NG:	Pyramid Sc	hool Products	Qua	dMed	School Kid	ls Healthcare
FEBRUA	RY 14, 2	007, 2:30 p.m.	6510 N.	54th Street	P.O. Bo	ox 550773	1711 Para	mount Court
TITLE:			Tampa,	FL 33610	Jacksonville,	FL 32255-0773	Waukesha	a, WI 53186
HEALTH	H SUPPL	IES/WAREHOUSE STOCK	Kenneth	D. Miller	Marle	ey Price	Bradley	G. Smith
BID:			813-62	21-6446	800-9	33-7334	800-5	58-6270
#08-013-1			813-62	21-7688	904-8	80-2303	800-5	58-1551
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
HS-21	3000	Vinyl Gloves-Medium	DISQ		NB		\$2.57	\$7,710.00
	Boxes	Manufacturer and Model #					Dynar	rex 2602
HS-23	1200	Shield, CPR Micro	NB		\$4.24	\$5,088.00	\$4.25	\$5,100.00
	Each	Manufacturer and Model #				ex 2754)-150
HS-23A		OR Equal	NB		NB		NB	
		Manufacturer and Model #						
HS-24	75	Gauze Squares 2"x2" Non-Sterile	NB		NB		\$0.59 (200/bx)	\$44.25
	Boxes	Manufacturer and Model #					Dynar	rex 3222
HS-24A	75	Gauze Squares 2"x2" Sterile	NB		NB		\$2.22	\$166.50
	Boxes	Manufacturer and Model #					Duka	I D1212
HS-30	600	Cover, Thermometer, Probe	NB		\$3.45	\$2,070.00	\$2.16	\$1,296.00
	Boxes	Manufacturer and Model #			ADO	C 7450	Mabis	156618
HS-31	75	Ace Bandages 2"	NB		\$3.85 (10/bx)	\$288.75	\$2.80 (10/bx)	\$210.00
	Boxes	Manufacturer and Model #			Dynar	rex 1070	Dynar	rex 0620
HS-32	70	Ace Bandages 3"	NB		\$5.15 (10/bx)	\$360.50	\$4.00 (10/bx)	\$280.00
	Boxes	Manufacturer and Model #			Dynar	rex 1071	Dynar	rex 0630
HS-33	75	Ace Bandages 4"	NB		\$6.85 (10/bx)	\$513.75	\$5.10 (10/bx)	\$382.50
	Boxes	Manufacturer and Model #		1	, ,	ex 1072	· · · · · · · · · · · · · · · · · · ·	ex 0640

DATE O	F OPENI	ING:	Supreme Medical Fulfillment Sys., Inc.		WM V MacGill & Co.								
FEBRUARY 14, 2007, 2:30 p.m. TITLE: HEALTH SUPPLIES/WAREHOUSE STOCK			P.O. Box 850247 Mobile, AL 36685-0247 Tony Mason		1000 Lombard Road Lombard, IL 60148 Melissa Birch								
							BID:			800-461-1370		800-323-2841	
							#08-013-MK		800-461-1277		800-727-3433		
ITEM#	QTY.	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE							
HS-21	3000	Vinyl Gloves-Medium	\$2.548	\$7,644.00	DISQ								
	Boxes	Manufacturer and Model #	Dynarex 2602										
HS-23	1200	Shield, CPR Micro	NB		NB								
	Each	Manufacturer and Model #	4.5.50	* 4 * 2 2 2 2 2		4.504.00							
HS-23A		OR Equal	\$3.50	\$4,200.00	\$4.18	\$5,016.00							
		Manufacturer and Model #	ADC 4056		MDI	87860							
HS-24	75	Gauze Squares 2"x2" Non-Sterile	\$0.84/ea	\$63.00	\$0.99 (200/bx)	\$74.25							
	Boxes	Manufacturer and Model #	Dynarex 3223		Economy 4022								
HS-24A	75	Gauze Squares 2"x2" Sterile	\$2.21	\$165.75	\$3.00 (100/bx)	\$225.00							
	Boxes	Manufacturer and Model #	Dynarex 3352		Dukal 8112								
HS-30	600	Cover, Thermometer, Probe	\$2.39	\$1,434.00	\$1.80	\$1,080.00							
	Boxes	Manufacturer and Model #	Lidi 20633		Mabis 15618								
HS-31	75	Ace Bandages 2"	\$2.80 (10/bx)	\$210.00	\$3.60	\$270.00							
	Boxes	Manufacturer and Model #	Dynarex 3662		Economy 3021								
HS-32	70	Ace Bandages 3"	\$3.96 (10/bx)	\$277.20	\$4.32	\$3,024.00							
	Boxes	Manufacturer and Model #	Dynarex 3663		Economy 3031								
HS-33	75	Ace Bandages 4"	\$4.95 (10/bx)	\$371.25	\$5.04	\$378.00							
110 00	Boxes	Manufacturer and Model #	Dynarex 3664		Economy 3041								